i< 1 T

()
5]

X

£

3

B

g

i

R
%

H #HERNT

HHEKE Y
Oltyu—1=2R
IHEHE<
Oly—1481
HHEKER
Olv=1Lu
KO~ |
NS —
Ol ¥—-1fH
Ol¥y-1RIK
Oly-1RY
ST
Oly—-igg
=R
Oly¥-1i00
NI R —
Ol 3¥»—1i01

.01t v=11011

M
IS - |
AL
Oly-1ioR
I
Ol¥v»—-1110
=<
NS R
NHEP O

Ol -1
OlM—tii}ta
N3
Oly—1i1 <
]
HE=RME
Ol¥=1111
YR
(HIEE=RENS
[UE=REEiY
Olyd—1N{w
Oly—-1hi=
[UL=RSRY
NEB<
B3R
NnE<0
HHE< |
=<
HE=E4I
< H
NniE<
nE<4<
[ISERY
<<
g
M=ERO

Ol V-1
NiER |
IHISEN
[UE=EAT

Ol 2—1 1
N=ERLE

Ol y—1 "
i R

\

/

\

/

\

/

Y VAR

\

/

REE

BEE

KoE

R
efis
B]-

{
i
A
i

I
i
iy

ENEZE

=ElE

~ ERI5a

< E
iogeliguid

RSN

TA~9H (1993)
ik U218 il A

W5 95 A~10/A(1984)

ik 5

5 U7 T

REFE

h—-8—-1

g O

o
A




Xl

Ka

H #FERNT

h—8=-1

IR i R e T T -

Ol y—1ni ﬁ.mmhw 1‘

o S 08+

Ol u—1n< Rt 6 ze+

ni=n | e i R R T-oe+

[ESHIEN 8 "¥e+

Olvw—-1=30O ’ ) !

Ol u=~1g| 2 -9e+

RESINI — 0 .mn+H

Olu-lm] — ,

Olyv—qy=m || | | | |-=====- P el e

=T R e ve+ Q

Ol v—| 88 \

Ol u-|&s |

nhEnE m.wm+v

Olv—|EiL !

OlVv— |5y nm_mmwm 00e+

o IERL 6 .mN+H

ORI B =1 \

ESTHES 5sary

Cly¥—is=t 1y ] ] | |-======c [ e i e

IS E ) ¥ .mN+H

Ol -1 - L 9g+ d

Ot -1 . |

RS — g 92+ &

Ol¥—|wm ™ \

HICEde) R w - 0¥zt e

01 3—| KK - @ | "

NHE | - &z e m~++ (=

Ol3—|HKy — m s | 5=

IRED - = mﬂ ||||| BB 8-~ — -l b _

Ol3n=—14] T \ ik

I ¥ 9504y 5

01 ¥—1411 i ! 2

NN ETE wmw m Iroz+ é h

Ol x—14n) = 8 g+ o

NI EH I\ u,o~+/o

Ol 3—14H |

Ol »—144L I

HIHE 8 22+ ¢

Otm—1&y || | | ] eeooooo__ e mm b

NHETD oinhral 9 BT+ ®

Oly— 4R e /

heE=< gl 4 g oe+ a\

Oty—13] !

Oly—1an Lie+

NHEIR g 62+

Oly-—1yv=m 2 er+

NHEKEO 9 'ge+

Ol¥—13K

Oly»—t1nyn v e, B Pt -~ L

K | B °Se+

Ol¥—|ug N

NI Lvzee

Ol y—1=<0 - -

= | - T

HEHE m.mm+/a

Ot~ B e /

NHEEH = EEROE 5 ge+

NI e L .:W.

K TR REE e - —
| | ] | | ] | | | | |

BEHT R R | e R




5-8-1 B FHELNFET  F HERSET
B | Z0OZ0Z=Z=Z=Z==ZZ=Z=Z=Z%
F|E B EEEEILELEAL
TR AT EXERZ-0ANC
7 _ -
=) —

/" W i I W

Moty o LB @
i BEL i g*rm gi gﬁ i

§“~_$m5¢7ﬁwgﬁ(1993)—%

il A
el Li-iaileEs
WS 945A~108(1984)

I
|
1
cm *

0
. B

+4 -

@ @
@Q a3
o~ [
+ +

+28.5

+2 -

+8. 4

+1

m
1200~

RS WE D

80 0p—

S = N U

frd
+
+3 %~ -
i
I
|
!
I
|
l
T
!
|
i
|
|
|
|
!
|
[
i
|
|
I
I
I
!
I

4 00—

T -~

i




